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QUESTION 1

You have multiple BGP routes to the same prefix with equal local-preference values and AS-path lengths. In this
scenario, which route will be preferred in the route selection process? 

A. The route with the least preferred origin value. 

B. The route with the lowest MED value. 

C. The route with the most preferred origin value. 

D. The route with the highest MED value. 

Correct Answer: C 

 

 

QUESTION 2

Click the Exhibit button. 
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You are investigating reports of increased latency and discover that some routes cause customer traffic to traverse a
route reflector instead of the optimal path. 

Referring to the exhibit, which configuration statement would solve the problem? 

A. delete protocols bgp group BGP-MESH peer-as 

B. set policy-options policy-statement NHS term BGP_ROUTES from external 

C. set protocols bgp group BGP-MESH import NHS 

D. delete protocols bgp group BGP-MESH export NHS 

Correct Answer: B 

 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? (Choose two.) 

A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 150. 

B. The C-VLANs 100-200 will be sent as the inner VLAN tag. 
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C. The C-VLAN 150 will be sent as the inner VLAN tag. 

D. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10. 

Correct Answer: BD 

 

 

QUESTION 4

Click the Exhibit button. 

Which well-known community needs to be used to restrict 10.0.0.0/8 from being advertised to AS 2? 

A. no-publish 

B. no-advertise 

C. no-export-subconfed 

D. no-export 

Correct Answer: D 

 

 

QUESTION 5

Which protocol is a multicast routing protocol? 

A. OSPF 

B. BGP 

C. PIM 

D. IS-IS 
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Correct Answer: C 
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